GLACIER EZ-FIT G40 ASUS GPU BLOCK

INSTALLATION GUIDE

Installationsanleitung | Guide d'installation | Guia de instalacion | REE#ER

THIS MANUAL IS FOR THE FOLLOWING MODELS
Dieses Handbuch gilt fur die folgenden Modelle | Ce manuel concerne les modéles
suivants | Este manual es para los siguientes modelos | Lt FAHERFIUTES

PH-GEF_GPU4090AS_DBKO1 GLACIER G40 ASUS GPU BLOCK | Black
PH-GEF_GPU4090AS_DMWO1 GLACIER G40 ASUS GPU BLOCK | White
PH-GEF_GPU4090AS_DCRO1 GLACIER G40 ASUS GPU BLOCK | Chrome

Legenda
Legende | Légende | Leyenda | $tEA

= Install | Installieren | Installer | Instalar | &3
H Phanteks will not take responsibility for any damages incurred due to incorrect

installation or usage of this product.

Phanteks Ubernimmt keine Verantwortung fur Schdden, die durch eine falsche
Installation oder Verwendung dieses Produkts entstehen.

Phanteks décline toute responsabilité en cas de dommages résultant d'une
installation ou d’une utilisation incorrecte de ce produit.

Phanteks no se responsabilizaré de los darios ocasionados por la instalacién o el uso
incorrectos de este producto.

Phanteks ARFBE AP RERIRSMMEMBRK, FFRIARETBASE.

Ausfihrung | Version | Version | kg7 | Version 1.0

Online Manual
online-Handbuch
Manuel en ligne
Manual en Linea
HEEFH

‘ M2.5x5 Screw 8mm Allen Key

@ Hm ‘ M3x10 Screw

‘ M2.5x6 Flush Screw D-RGB Cable

M2.5x8 Flush Screw

|
@ H ‘ Washer

D-RGB Motherboard Adapter

Thermal Compound

8mm Allen Key

@
Support Bracket @

o
=

INLET PORTD—I

(pre-installed)
M24 Plug Fitting

(pre-installed)
Push-in Fitting

Insert

Backplate Thermal Pad

KE O

Tool 7

[con |
&/

Tool

Flat Screwdriver ©]

— | —

— L— ~

Tool

FHFEBITERS

|—10UTLET PORT

Block Thermal Pad

GB4090AS Backplate

PH-GEF_GPU4090AS block

PROTIP

PH-GEF_GPU4090AS is equipped with
multiple ports to allow for more flexibility.
Please plan your water loop before
proceeding with installation.

PH-GEF_GPU4090AS ist mit mehreren
Anschlissen ausgestattet, um mehr Flexibilitét
zu ermoéglichen. Bitte planen Sie lhren
Wasserkreislauf, bevor Sie mit der Installation
fortfahren.

PH-GEF _GPU4090AS est équipé de plusieurs
ports pour permettre plus de flexibilité. Veuillez
planifier votre boucle d’eau avant de procéder
a linstallation.

PH-GEF_GPU4090AS estd equipado con
multiples puertos para permitir una mayor
flexibilidad. Planifique su circuito de agua
antes de continuar con la instalacién.

PH-GEF_GPU4090AS EZ& ZMik0, RIFEAKRIE
4o SR EZFIEMY K&,



GLACIER EZ-FIT G40 ASUS GPU BLOCK

REMOVING STOCK COOLER
Entfernen des Originalkiihlers | Retrait du refroidisseur d'origine | Quitar el enfriador de stock | #ERR/ ##a%

ASUS ROG STRIX RTX 4090

IZ”HIBI

APPLYING THERMAL PASTE & PADS

Keep and used for installing water block | Bewahren
sie es auf und verwenden Sie es zur Installation des
Wasserblocks. | Conserver et utiliser pour installer un
bloc d'eau | Conservar y utilizar para instalar bloque
de agua. | REHRBAFREKS K

Auftragen von Wérmeleitpaste und -pads | Application de pate thermique et de tampons | Aplicar pasta térmica y pads | & SREMIKE SHE

ASUS ROG STRIX RTX 4090 / TUF GAMING RTX 4090

- (o INSTALLATION GUIDE

PROTIP

Clean off the thermal compound and use
isopropanol. Place thermal pads correctly
and apply thermal compound to the GPU
center.

Reinigen Sie die Warmeleitpaste und
verwenden Sie Isopropanol. Platzieren Sie
die Wdrmeleitpads richtig und tragen Sie
Wdrmeleitpaste auf die Mitte der GPU auf.

Nettoyez la pdate thermique et utilisez de
Iisopropanol.  Placez  correctement  les
tampons thermiques et appliquez de la pate
thermique sur le centre du GPU.

Limpie el compuesto térmico y use
isopropanol.  Coloque las almohadillas
térmicas correctamente y aplique compuesto
térmico al centro de la GPU.

ERSALEMHERRRE, ERRESARHRES
AUEYIRHEE GPU Hil.

WARNING

Make sure to remove the protective film on
both sides of the thermal pads.

Achten Sie darauf, die Schutzfolie auf beiden
Seiten der Warmeleitpads zu entfernen.

Assurez-vous de retirer le film protecteur des
deux co6tés des coussinets thermiques.

Asegurese de quitar la pelicula protectora en
ambos lados de las almohadillas térmicas.

B #sznsnemunmrn.

PHANTEKS | www.phanteks.com



GLACIER EZ-FIT G40 ASUS GPU BLOCK INSTALLATION GUIDE

Installationsanleitung | Guide d'installation | Guia de instalacion | R

Ausfuhrung | Version | Version | kg7 | Version 1.0

MOUNT THE WATER BLOCK

Montieren Sie den Wasserblock | Montez le bloc d’eau | Monte el bloque de agua | 3%7ki¢ %

SECURE THE SUPPORT BRACKET TO THE GPU BLOCK

Befestigen Sie die Halterung am GPU-Block | Fixez le support au bloc GPU | Asegure el soporte de soporte al bloque de gpu | R/\Z525K43

Carefully position the water block onto the graphics card. Align
the mounting holes on the PCB with the holes on the water block.

| Positionieren Sie den Wasserblock vorsichtig auf der Grafikkarte.
Richten Sie die Montageldcher auf der Leiterplatte mit den Lochern
am Wasserblock aus. | Positionnez soigneusement le waterblock
sur la carte graphique. Alignez les trous de montage du PCB avec
les trous du bloc d’eau. | Coloque con cuidado el bloque de agua
en la tarjeta grdafica. Alinee los orificios de montaje de la PCB con
los orificios del bloque de agua. | Zii§7kI4 kR EFI R+ .5 PCB
ERREF S K0S K EBFLITT.

SECURE THE WATER BLOCK

Sichern Sie den Wasserblock | Fixez le bloc d’eau | Asegure el bloque de agua | ®3ki$%

M2.5x5 Screw 4x
Washer 4x

Secure the Support Bracket with the original cooler screw. |
Befestigen Sie die Halterung mit der Originalkihlerschraube. |
Fixez le support avec la vis du refroidisseur d’origine. | Asegure el
soporte de soporte con el tornillo del enfriador original. | fERRZE
REBBLEERI,

APPLYING THERMAL PADS

Anbringen von Wérmeleitpads | Application de coussinets thermiques | Aplicar almohadillas térmicas | & $#H

© an der richtigen Position auf der Backplate. | Retirez le film protecteur des deux cotés et placez les
coussinets thermiques dans la bonne position sur la plaque arriére. | Retire la pelicula protectora en
ambos lados y coloque las almohadillas térmicas en la posicién correcta en la placa posterior. | #fif
= — ° B RIPE, HIE SRBREEE RN ERLE L.

© S 9
- Remove the protective film on both sides and place the thermal pads on the correct position on the
backplate. | Entfernen Sie die Schutzfolie auf beiden Seiten und platzieren Sie die Warmeleitpads

INSTALL THE BACKPLATE

Installieren Sie die Riickplatte | Installez la plaque arriére | Instale la placa posterior | REL IR

m SECURE THE 8X M2.5X8MM m SECURE THE 2X M2.5X6MM

Befestigen Sie die 8x M2.5x8mm | Fixez les 8x M2,5x8mm | Asegure la 8x M2.5x8mm | Befestigen Sie die 2x M2.5x6mm | Fixez les 2x M2,5x6mm | Asegure la 2x M2.5x6mm |
EI%E 8x M2.5x8mm Bl 2x M2.5x6mm

M2.5x8 Flush
Screw

M2.5x6 Flush
Screw

(©)

Carefully position the backplate onto the graphics card. Align the mounting holes on the PCB with the holes on the backplate. | Positionieren Sie die Rickplatte vorsichtig auf der Grafikkarte. Richten Sie die
Montagelécher auf der Leiterplatte an den Léchern auf der Riickplatte aus. | Positionnez soigneusement la plaque arriére sur la carte graphique. Alignez les trous de montage du PCB avec les trous de la
plaque arriére. | Coloque con cuidado la placa posterior sobre la tarjeta gréfica. Alinee los orificios de montaje de la PCB con los orificios de la placa posterior. | /NbEERLET Rk .38 PCB LHREFS5EIR
BRI

PHAANTEKS | www.phanteks.com INSTALLATION GUIDE




GLACIER EZ-FIT G40 ASUS GPU BLOCK

CONNECT D-RGB CABLE

D-RGB-Kabel anschlieRen | Connectez le cable D-RGB | Conecte el cable D-RGB | £#D-RGB4;

WARNING

Always perform a leak test before providing
power to any system components.

FUhren Sie immer einen Dichtheitstest durch,
;i bevor Sie Systemkomponenten mit Strom
7—~_" versorgen.
=l Effectuez toujours un test de fuite avant de
- mettre sous tension les composants du
systéme.

OPOTIONAL | OPTIONAL | OPTIONNELLE | OPCIONAL | &]3%
Realice siempre una prueba de fugas antes de
suministrar energia a cualquier componente

del sistema.
Connect to Phanteks Case / Motherboard Cable | Anschluss an Phanteks- To other Phanteks D-RGB lighting products | Zu anderen S
4 R A R 42 ok =
Gehiuse/Motherboard-Kabel | Connectez-vous au boitier Phanteks/cable Phanteks D-RGB-Beleuchtungsprodukten | Vers d'autres ERERARGAHHEBZE, SURTRRL.
de la carte mére | Conexién al cable de la caja/placa base Phanteks | produits déclairage Phanteks D-RGB | A otros productos
= Phanteks 48/ R84 de iluminacion Phanteks D-RGB | #F Eft: Phanteks

D-RGB R~ &

INSTALL THE GPU INTO THE SYSTEM

Installieren Sie die GPU im System | Installez le GPU dans le systéme | Instalar la gpu en el sistema | RFEKEKERY

INSTALL THE WATERLOOP TUBE REMOVAL

Installieren Sie den Wasserkreislauf | Installer la boucle d'eau | Instalar el circuito de agua | R¥EKE Schlauchentfernung | Retrait du tube | Extraccion del tubo |
BIREF
. .
Hard Tube Installation Soft Tube Installation
Hard-Tube-Installation | Installation de tubes durs | Installation eines weichen Schlauchs | Installation du tube souple |
Instalacion de tubo duro | REFE Instalacion de tubo blando | RERE

1. Install Insert | Einfigen
installieren | Installer insert |

3 Instalar inserto | R

Press down on the ring and remove
— the tube. | Driicken Sie auf den

@ Ring und entfernen Sie das Rohr.

| Appuyez sur I'anneau et retirez

e le tube. | Presione hacia abajo en

v el anillo y retire el tubo. | & TFH
v BTEF

2. Press down on the ring and

v install the soft tube. | Driicken
—

Sie den Ring nach unten und

installieren Sie den weichen
Press down on the ring and install the soft tube. | — Schlauch. | Appuyez sur 'anneau
Dricken Sie den Ring nach unten und installieren et installez le tube souple. |
Sie den weichen Schlauch. | Appuyez sur 'anneau Presione hacia abajo el anillo e
et installez le tube souple. | Presione hacia abajo el instale el tubo blando. | #F##

anillo e instale el tubo blando. | EFFHAHRENRE RENRE

PROTIP
D Please put a drop
@ of water into the g
fitting o-ring before
7 installation. 9 @
/_7<

Bitte geben Sie vor der Montage einen Tropfen
Wasser in den O-Ring der Armatur.

Veuillez mettre une goutte d’eau dans le joint

Make sure to cut perpendicular to the tubing as
n torique du raccord avant I'installation.

shown. | Stellen Sie sicher, dass Sie wie gezeigt
senkrecht zum Schlauch schneiden. | Assurez-vous
de couper perpendiculairement au tube comme ﬂ Coloque una gota de agua en la junta térica
indiqué. | Asegrese de cortar perpendicular al tubo del accesorio antes de la instalacion.
como se muestra. | FHRZRBTEEEATZEF

B =sns—smimnies omime.

WARNING: CHECK FOR LEAKS BEFORE TURNING ON THE SYSTEM

WARNUNG: Uberprifen Sie das System auf Undichtigkeiten, BEVOR Sie es einschalten | AVERTISSEMENT : Vérifiez les fuites AVANT d’allumer le systéme. | ADVERTENCIA: Verifique si hay fugas ANTES
de encender el sistema | &&: EITARAZFIRERTHER

SAFETY INFORMATION NOTE ON DISPOSAL

SICHERHEITSINFORMATION | INFORMATION DE SECURITE | INFORMACION DE SEGURIDAD | £ 2{5 8 Hinweis zur Entsorgung | Remarque sur I'élimination | Nota sobre la eliminacién | EEF A2

In order to achieve maximum safety, we suggest that you adopt the following guidelines:

. Place the product on a clean and stable surface that allows adequate air ventilation.

(4 ) _ REPRISE ADEPOSER ADEPOSER
2. Don't use or place the product and any of its components near water, moisture, or other wet surfaces; or place the product Cet il ALALIVRAISON  ENMAGASIN  EN DECHETERIE
near any heat, open flame, or other hot surfaces such as radiators, stoves, fireplaces, and candles. &‘ € appaI\rel
serecycle
3. Use caution when operating the desktop PC to avoid electrical shock or damage, such as unplugging the power supply
during thunderstorms, ensuring that your hands are dry before using (and handling) the desktop PC, keeping it away from
any source of liquid and/or heat source, and using all other reasonable precautions needed under the circumstances. Points de collecte sur www.quefairedemesdechets.fr
N . N ) Privilégiez la réparation ou le don de votre appareil !
4. When connecting external devices to your desktop PC, carefully plan how the wires will be placed. Protect any connected
cables from being trod on or pinched, particularly at plugs, convenience receptacles, or the point where they exit from. The WEEE symbol indicates that this product must not be disposed of with normal
. . . . household waste. Through the correct disposal of this product, you will help
5. Take etth;? CGU?OI’\ V\éhetr\bh?r\de||ng/reg’_\ovmg/reuttoch|ng glass components. Once removed, place the glass component protect the environment. For more information on the disposal of this product,
On astable surface first before proceeding. please contact your local municipality, your waste disposal service or the shop
6. When unplugging any connected devices and/or cables, always pull the cable or device’s plug or connector. Don't forcefully where you purchased the product
tug on its cord.
7. Don't place any heavy items on top of the product. Phanteks Group Inc. Importer EU Importer US
. . 1IF, No. 150, Jian Ist Rd, Axpertec Int. B.V. (EU Axpertec Inc. (US,
8. Make sure that the desktop PC is off, unplugged from the outlet, and that all connected devices are powered off and Zhonghe Dis; SiZneystma( 33( ) 2;565EW0‘HL( D)r N
unplugged (if any) before installing or uninstalling any internal component to and/or from the dekstop PC or product. New Taipei City 235 3047 BP Rotterdam City of Industry, CA 81789

The Netherlands USA





